\

Oy O O TR T G LR

* by mixing 25.5 g of CHCI, and 40 g of

" {4)" 347.9 mmHg

2 4 Q-
| MR
. A,G=+960 kl.mol L. %

- sign?

1 AT BT omh 1 1 e s o £t ——

www.FirstRanker.com

Vapour pressure of chloroform (CHCl,)
and dichloromethane (CH,Cl,) at 25°C are
200 mmHg and 41.5 mmHg respectively.
Vapour pressure of the solution obtained

CH,Cl, at the same temperature will be :

(Molecular mass of CHCI3=119.5 u and
molecular mass of CH,Cl, =85 u)

(1) 285.5 mumHg

(21739 mmHg

(3) 615.0 mmHg

The Gibbs’ energy for the decomposition
of Al,O, at 500°C is as follows :

The potential difference needed for the
electrolytic reduction of aluminium oxide

(Alzo-_}) at SOOOC iS at leaSt . L Y
‘ T2 !
W

1) 50V

2) 45v (=S b a0
(3) “3.0V a0 :n[ﬁ*" Sq/ 7
@ 25V '\’é

()
Four successive members of the first series

“of the transition metals are listed below.
For which one of them the standard

A

potential (EM2+/M] value has a positive

(1)  Fe (Z=26)
(2) Co (Z=27)
(3) Ni (Z=28)

4)~Cu (Z=29)
@ C

P ORL RS NG TN AR5 HE AN S P 1 R T

P g A

www.FirstRanker.com
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B
25°C W A (CHCLy) a9 SHRaaRmes
(CH,Cl,) % a7 /& FHW: 200 mmHg 71
41.5 mmHg ®1 255 g CHCl, % a0

40 g CH,Cl, % firem W wrar foeram &1 ey
g/ 3 a9 T g,

(CHCly %1 319 ¥R =119.5 u 781 CH,Cl, %1

I YR=85u B)
O {.CHSJ

(1) 2855 mmHg
{2) 1739 mmHg
(3) 615.0 mmHg 2 [Lib
(4) 3479 mmHg Q@E
500°C T ALO, % fasres & ford firsw o
Frefafaa gt ®

1, ' ¥ o
% A1203—>§A1+02 ; gﬂ%a) *(%E_D ‘Ggol &
AG= +960 k] mol~! i
500°C W ¥Ry afees (AL0,) F famg
HUaa & ford fave i Fn A I dar
1) 50V S <
(2) 45V 7 +2[ ‘A b
(3) 30V 1 ,J#’(‘{
(4) 25V A

THAY UGS H IYH AN F G h IR
I T UR e Y g s ¥ v R

fre ford Wed favm (E&M/M]m B

Yoy o 9 €2
(1) Fe (Z=26)
(2) Co (Z=27)
(3) Ni (Z=28)

(4) Cu (Z2=29)

sl bEA g LR TSR
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Which of the following exhibits only +3
oxidation stale ?

(1) Pa

@ U

(3) Th
a)—Ac

Molar conductivities (A nm) at infinite

dilution of NaCl Cl and

126.4, 4259 and 91.0 S cm
respectively. A, for CH;COOH will be :

LAt 3905 S cm? mol =1 ¢ma ¢

"‘1.5“""‘%)“ 4255 5 cm? mol (14 coop

(3) 180.5S cm? mol ! s 415 3ﬂ
(4) 290.8 S cm? mol ~! < ELGQ;%
\"9'5'5/9

In which of the following arrangements
the given sequence is not strictly according

to the property indicated against it ?
\W < 810, < Sn0, < PbO, :
\ increasing oxidising power.

- HF < HCl < HBr < HI
acidic strength

HZO <H,S < H,Se < H,Te
increasing pK; values

NH,; < PHy < AsH, < SbH,
increasing acidic character

. increasing
@
Consider the reaction :

RCHO + NH,NH,—RCH =N - N,

What sort of reaction is it ?
k/ Nucleophilic addlhon - elimination

reaction

(2) Electrophilic addition - elimination

. reaction

(3) Free radical addition - elimination
reaction

(4) Electrophilic  substitution -

elimination reaction

b'ﬂﬂlﬂpwnmw-manw R

www.FirstRanker.com

q
4. = d 8 91 Had +3 39977 evaeen yefifg
FA R ?
(1) Pa
(2) U
(3) Th
4) Ac
5. 3T 9N I, NaCl, HCl 991 CH;COONa
Wt e’ AAHA ( Ay, ) AT 126.4, 425.9
991 91.0 S cm? mol =1 ¥, CH;COOH i
Aum Bt
(1) 39055 em? mol !
(2) 42558 cm? mol ! g
(3) 180.5 S em?2 mol ! -
(4) 290.8 S cm? mol !
6. frAfafes srawenei § W fear o w0 & =7
fead 37w fafaae o % SR =
27 |
(1) CO, < Si0, < Sn0, < PbQ, : =&l
SFdtFERE g
(2) HF < HCl < HBr < HI : 9gal 3%t
gme ,
(3) H,0 <H,S < H,Se < H,Te : ¥ pK,
= .
(4) NHj < PHj < AsHj < SbH, : 9ga1
7. e sfufsan oz faam it
RCHO + NH,NH,-»RCH=N - NH,
Tg g R & aAfufeFm 82 _.
(1) Tfwwetst deem-faams st
() TOREE wEe-faeim afufEm
(3) il Wewe wwer-faeam sifufwan
(4) sAwAEE wiaeerry-faeam arfufsa

B L3 -».-nmﬁhﬂlmiﬂw:ﬁmwbiﬁ
) : L T LI
. . ) :

. www-:FirstRanker.com
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8. . During change of O, to O, ion, the
. _.electron adds on which one of the
following orbitals ?
(1) o orbital
) * orbital
(3) 7 orbital
(4)  o* orbital

9, ‘Standard reductidn potentials of the half
reactions are given below :
Fogt2e™2F 0 E°= +285
Clyg) + 22~ -2C1 T(ag); E9= 4136V
Br2(1)+26*—>28r‘(aq) ; E°=+4+106V
Lyg+2e 217 0 E°= 4053V
The strongest oxidising and reducing
agents -respectively are

Cl, and |,
\/(,’Z/)‘/ Foand [
(3)  Bryand Cl™
(4) Cl, and Br-

10.  The catalytic activity of transition metals
- and their compounds is ascribed mainly

(1)  their chemical reactivity
(2} their magnetic behaviour
) their unfilled d - orbitals
their ability to adopt variable
. oxidation states

11.  Eqial volumes of two monoatomic gases,
A and B, at same temperature and pressure
are mixed. The ratio of specific heats

(C /C,) of the mixture will be : /M
\JJ,)/ 1.67 18> ¢

@ o8 3 & S%J ¥

(@) 1.50 To3NT R

4) 3.3

RRRRE T2 TR T ST

10,

11.

www.FirstRanker.com
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O, %1 O, 37 H i 2w Prafafam

aﬁﬂﬁ@hﬁﬁmmﬁ
(1) o fefes
(2)  * anfaee
(3) w ffeed
(4) o> anfded

ad sffshan % wre srea fave A fag
g

Fz(g) +29"~>2F"{aq) ; E°=+285vV
CIZ(S}-FZe‘——)ZCl“(aq) ; E9= 4136V
Br2(1)+2e'"-+28r'"(aq) ; E°=+106V
12(5} +2e” 21" (aq) ’ E®=+053V
TSeTdd YRS 91 TS FH: ¢

(1) ClLaa |,

(2) F,duri-

{(3) Brywar Cl-

(4) Cl, 9% Br- -

HeFHO1 T S 3T AT w1 ssR afwa
1 Y& FO R

(1) STt Tamfes sffrarie

(2) I JEHE TR

(3) =TI @ d - smfsfed

(4) ! uRedTvia souaa orameanna o
1 SH F arar

< AHefae e, A otk B ¥ wqew amga
T A9 3 g R e wg ¥ fagm s

T faTsR Sear (C,/C,) T STTaW 2 :
1) 1.67

(2) 0.83

(3) 1.50

3.

www.FirstRanker.com
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~h \“3 03 1
A \ ) .U“,‘
N\ ﬁb‘ WWW. Flgsiﬁanker cone, h‘k WWW,E”‘?émnker:pom
B 6 ) 2 qu N
o s e
. S e a
. 12. Given that the equilibrium constant for the | 72, W faom 9m W, %ﬁ&ﬁnﬁ‘

reaction .
2505 + O =250y F fer T e

250,, .+ 0O =2 50,
2(g) T M 2g) 3(g) &1 A 278 fean o 20 = g w e

has a value of 278 at a particular

st

temperature. What is the value of the
equilibrium constant for the following 501(;:‘ . H()-,(”)w' l,) O
reaction at the same temperature ? I o <o

w % forg | feerfe &1 Am @0 gm?
SO3() =025+ /2 Oxg) 1) 13x10°5 |
1) 1.3x10°5 Y LR )
1 | ] . @ Q) 18x10-3 —F
(2) 1.8x10°3 € (3) 3.6x 103 &

A3Y3.6%x1073 @) 6.0x10"2

(4) 6.0x1072

13, Fre1 &3 4 @ 9 WA ety sy
13.  Which one of the following sets forms the TS 7
biodegradable polymer ?

1) {O)- cr=cH, ok
1 {O)- CH=CH, and
CH,=CH-CH=CH,

(2) CH,=CH-CN 3R
CH,=CH —CH =CH,

CH,=CH~-CH=CH,

(2 CH,=CH-CN and
CH,=CH~CH=CH,

(3)-- H,N—CH, - COOH and ) :2;] B C(’;_? R CO(%{O:R
H,N — (CH,); — COOH 2N = (CHY)5—

(4) HO-CH,—CH,—OHand (4) HO-CH,~CH,~OH 3R
HOOC @ COOH HOOC - @-COOH

14, In the replacement reaction 14.  wfqeare sfafe .

—>CI+MF-—-+—>CF+MI —CI+MF——> CF+MI .

The reaction will be most favourable if M H, sifufewan stfeman SRES B afe M ?h?ﬂ

happens to be : T

1) L \ (1) Li

A2 Na (2) Na
@) K | 3) K
(4) Rb (4) RD _,

. - . T .
/( . o . LY R
\ L
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7
15.  Activation energy (E,) and rate constants 15.
(k; and ky) of a chemical reaction at two
different temperatures (Ty and T,) are
related by : ka1
k= M-
A
K Ea [l .1
(L In K- R T T,
k E, 1 _ 1
@ kk " Ry T
B E, (1 1
G) Ing=- R (T T
k2 E'] 1 _]_
Kas 154
'.:' A E-GC‘ ”?7} @,ﬂ ! /Q‘-ll’]
InK, = A-.C'gll (AR =
mr K
16.  Which one of the following does not
correctly represent the correct order of the
property indicated against it ?
(1) Ti<V<Mn<Cr: Increasing 2nd
' ionization enthalpy
A (2) Ti<V<Cr<Mn: increasing number
..of oxidation states
it < V’*+ < %b* < M@
increasing magnetic momenf.L
. i o | L.
(4) Ti<V<Cr<Mn:iner eaqmg melting
menl ﬁi\) RLL /} l [/__I,./
J:';?i‘w‘"m,*ﬁr,TNWﬂr]"':N' S R L L Y R (1[I SPRIERE T IR IO

www.FirstRanker.com

B
2 fafis am, 1, 9on T, W ww sl
afeam w1 (E,) 9o = Frgais (k; 797 k)
T TFR grafyg ¥
ke B, (1 _ 1
) In ke T "ﬁi [T1 Tz]
Kp B (1 _1
X _E {1 _1
() In k™T R I T
k") E 1 1
e W L
(4) In k’l - R (Tz TIJ
- Eu —Euty
Mw
hs%faf@aﬁ #1 T a fafaa e &
FH % SN srafem T8 ¥
(1)  Ti<V<Mn<Cr: g fiita smem
T
(2) Ti<V<Cr<Mn:S9999 sroeqsi
1 agdt wEn
(3) TPt < V3+ < O3+ < Mn3+ |
TEIhI el
() Ti<V<Cr<Mn: w9 e
CrRE e na ey LT N AR

www.FirstRanker.com
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18.

-('l.) Dimethylglyoxime functions as

www.FirstRanker.com

H

Red precipitate is obtained when ethanol
solution of dimethylglyoxime is added to
ammoniacal Ni (II}. Which of the following
statements is not true ?

bidentate ligand.

(2) Red complex has a square planar

geometry.
(3) Complex has
H - bonding.

symmetrical

(4} Red complex has a tetrahedral

geometry.
H,C-C=N |
dimethylglyoxime ==~ L (#11
H,C-C=N 1
OH

An organic compound (C3HgN} (A),
wherp. treafed with nitrous acid, gave an
alcohol and N, gas was evolved. (A) on
warming with CHCly and caustic potash
gave (C) which on reduction gave
isopropylmethvlamine. Predict the
structure of (A).

17.

18.

-~

www.FirstRanker.com

w9 EEHATATAMI TR F ATHIGAH
ferea w1 STAIEREr N (1) 0 eran
3, A ool STaRY T Bl 2 ﬁrs{ﬁﬁ"—[m
For Ted AE 87

wifg #1d T T |

(2) @ eTEEm F sarEd Frtmrefta 2t
T |

(3) w( H wufa H - a:a‘«[‘@?n%}l

(4) mewﬁfﬁa@’ﬁﬁmﬂﬂﬁm

MH(\J; 71

LOH
H.C-C=N

iize,ws’wmw@wm: S

L

H,C-C=N
N
OH

e it AT (CHgN) (A), Fi & TEH
T % e ARG e T ) U Yene
faan ofk N, T8 et (A) 1 CHCly 3
a:rﬁzmmamanﬁmﬁwm)mgw
a‘rmaﬁﬁaﬂﬁmam@ﬁrﬁaﬁfwﬁﬁﬂﬁml
(A) F1 G A TS RIFT

(1) CH,CH,CH,~NH,
CH
2 3> CH-NH, CH,~_
CHy” ) _~ CH-NH,
) cH
8)~ CH,CH, - NH - CH, (3) CH,CH,~NH—CH,
@) CH,- ITI - CH, (4) CH,— N —CH,
\
CH3 CHS
T s -u-nww-rmmtrﬁmii-%5
=7 www.FirstRanker.com
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19.

20.

21,

(4)

9

Structure of a mixed oxide is cubic close -
packed (c.c.p). The cubic unit cell of mixed
ooxide is composed of oxide ions. One
fourth of the tetrahedral voids are accupied
by divalent metal ‘Aland the fctahedral)
voids are occupied by a ﬁ\:’ugyjlemmetah

B. The formula of the oxide is :

The orbital angular momentum of a
p - electron is given as :

ok
(1) Jé.%__ K\(l/ul-w(
) NN
Q) == | Cg?
l
~ h
() V3

Four diatomic species are listed below.
[dentify the correct order in which the
bond order is increasing in them :

W&; <03 <6C-)‘“3 Cy

g %1

(1)  ABO, { g4\

2) ABO, ‘F_ \ "

3y +A,BO, % TGt -g*?
A,B,0, L

33
. (2) NO<O; < C¥ < He]
(3) 0; <NO< 3" < He}
Y,
(4) C§“< He;:< 0, < LSS
. |
‘ e uS
P —
o o o 5
b L q .
I \\0 - 1
}?';!f’_ﬂilwwmmmmﬂsﬂw.-z»'-.r R e T P s e

L

Ly AT e -
www.FirstRahk

19.

20.

21.

tavww, FirstRanker.com

3 _s:; 2 B
qmﬁamaﬂmaﬂm(ﬂm
B fag sfwme w1 W e 4w siwmRs
AT T W g 1 Yzeew fw T #

.com

T =g W fEHEeTE uig A g Y gen
Ao Aferdge fam v wwhEde wig B R
WL T SRR F AR ¢
(1) AByO, JJT—\Q*'?
(2) ABO, % o
3) A,BO, (ffﬁ’

4 G
4) A,B,0, -t *f{»@

k\
T p - TRH w1 sifen B T T
TR fear s @

h l= 3
M) \/g% \-h%:' %’ €
&
h LY
@ 7 K
6 V3 )

IR fyommfaes wivits 9 fod 1 #1139
HE %Y ® 9E=E Sire forad A 3 ey

m%a@§wﬁ%: )5{«///4/55,4;&,4
(1)  He; <05 <NO<C3~

(2) NO<O; < C3"< Hej l07

(3) 0O, <NO<C2"< He]

(4) C3"<He;< 0, <NO

St IR R E AR e 7 TR |.}!ﬂg,;w|m TE oW

BT
i - - Ao
R N T

[ CNL T L e

~ www.FirstRanker.com
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@ Which of the following compounds can be
used as antifreeze in automobile
radiators ?

(1) Ethyl alcohol
\WQ/ Methyl alcob\n/
(3) Glycol
(4) Nitrophenol
23. For real gases van der Waals equation is
written as
an? .
pt V2 | (V-nb)=nRT

where ‘a’ and ‘b’ are van der Waals
constants, -

Two sets of gases are :
) 0O, &, H, and He
(I) CH, Oy and H,
The gases given in set-I in increasing order
wgases givenin set-Ilin decreasing
rder of ‘a’, are arranged below. Select

the correct order from the following :

(1) (1) Hy<O,<He<CO, (If) 0,>CH,>H,
() () He<H,<CO,<0, (II) CH,>H,>0,
(3)  (I) Oy<He<H,<CO, (If) H>0,>CTH,
. (0~ Hy<He<0,<CO, (II) CH,>O,>H,

24,

A certain gas takes three times as long to
effuse out as helium. Its molecular mass

will be :

M 9u 3 ;Jﬂ’,
2 Zu J{ [
6 u g-_-_ -y

4y 64 u »

)

10

22.

23,

24.

www.FirstRanker.com

SRS (v ) e 1 affm
* w9 ¥ e At § @ w5 vgw & v
2?2

(1) e deskiera
(2) W tewe
(3) TaTEHIA

(4)  TARIEAE

mﬁmﬁﬁ%%ﬁ%ﬁmmmm
TR Teran s & "

A Y

+an2
p vz (V—-nb)=n RT

et ‘2’ afit b 59 = Aoy fwE ¥

MFEAHE
) 0O, CO, H, 3R He
(Il CH,, O, HR H,

Y217 < T 6 Wb F e g Ew F ok
- 117 € T e F o’ & wed guwn A e
=aferd oo T 31 o @ 96 w0 w1 e

(1} (I) Hy<O,<He<CO, (II) O,>CH,>H,
(2)  (I) He<H,<CO,<0, (1) CH,>H,>O,
(3) (1) Oy<He<H,<CO, () H,>0,>CH,
(4) " (1) Hy<He<0,<CO, (I1) CH,>0,>H,

o T diferan # gern o freaf 99§ =
AT §HE el ¥, TR U] ST BT

(1) 9u

(2) 27 u. e it
3) 36u '
4) 64u

[P

v “?-Ih:‘w%‘rflﬁwil‘l’d;iijtt.EJQ:}maWWm!lg Ny
B e e

Y

" www.FirstRanker.com
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26,

25..

1)

J8~ CH;CHO
O})/CZH5OH

(4)

(1)

&~ NaNH,
R

e

27.

Q)

(,(8‘)/Methyl acetate

(4)

@ Chloroamphenicol is an :

Kk

Consider the following reaction @

O codl

" The ;)roduct ‘A’ s ;

Which of the following reagents will be
able to distinguish between 1-butyne and
2-butyne ?

Which of the following compounds will

give a yellow plec1p1tate with iodine and
alkali ?

.

www.FirstRanker.com

.H2
Pd- BaSO4

CgHsCl

CeH;COCH,

Br,

HCl
02

oM

-

2 - Hydroxypropane

Acetophenone
8
L]

|
c;h(' = (Yq
(oL,

o

Acetamide

antibiotic - broad spectrum
antifertility drug

antihistaminic

antiseptic and disinfectant

25,

26.

27,

28.

B T

www.FirstRanker.com

ﬁmaﬁx&mmﬁrﬁnaﬂfm-

©/ COcCl
Pa— BaSO

I AR

(1)  CgHsCl

(2) C4¢HsCHO
(3) C,H.OH

(4) C4H.COCH,

1-%@12-@{5@?1&‘@%%%&

=1 arfimrral § | =i 9 gm 2
(1) Br

(2) NaNH,

(3) Ha

4 O, B
= Al & ] 1 smErda it edhet ¥
WY el 1 1 sragy 2 ?

(1) 2 - FrEgladtus

(2) CHRIWHR

(3)  afe deite

(4) USAEE

FAR R TR §

(1) vhnifas-are wwy

(2)  gfafE=a g

(3) widfewerfoat

(4)  gferre 3 Armopreft

b B ELEPLE I P ;QIH‘“
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29, Given the reaction between 2 gases | 29, A, qd B, g sifu=rd Ft 72 ¥ AE @
represented by A, and B, to give the ;
Ffufsma 8 WA, AT o &1

d AB,_..
compotine 2e) 5 Agg + Bag =2 ABg
Ay T B =2 AB(g).

At equilibrium, the concentration TR Ag, Bydl ABH! m ERRAL % '
of A,=3.0x10"3 M A, B WE=3.0%107 M

of B,=42x107> M B, WA =4.2x 1077 M

of AB=28x10"* M AB#I TrEAI=28%10"3 M

If the reaction takes place in a sealed vessel Tz 527°C 4T sl u &= o ® B & ?TT
§7°C, then the value of K_ will be : K_ 19 2 -

) iz Ay uf () 45 g

' Tl (2) 2.0 , .
(3 1.9 3) 1.9 \
(4) 0.62 (4) 0.62 g

30. Low spin complex of ,_d6—;cation inan | 39. 46— 9A ¥ T=waSE wiee ¥ frer fom
octdhiedral field will have the following

' T Y Tl T Eh
energy : T
R . o,
(1) :5”2“A0+P L_j__ _I (1) S A tP
-12

-12 v (2) ——A,+P

(2) 5 Ao+ P mm\\ %1 5 °°
e (3) ZaA_ +3P

\@/EZX;Jf 3P suxg | 5 "o

ae—

19 -2
4_, -2 (4) _A + 2P
(4) 5 B8,+2P
= SPREHE ez § mﬁ aﬁ fararea
(A, = Crystal Field Splitting Energy in an -
octahedral field, '
P= Electron pairing energy) P= gelagt g Fi)
31. In the five-kingdom classification, 31, - @RI mﬁm‘ :

- Chlamydomonas and Chlorella have been Feven feed whmfaa Py ¥?
k 1(r11§lud;d in : (1) 2 e
i onera i

(2) Protista 2)

3) Algae (3)

@ Plantae (4) A=

s ‘—a—mlwa‘"iﬁn.*miﬂﬂlii;;}}*; ST
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Identify the likely organisms (a), (b}, (c) and

(d) in the food web shown below :

lion
hawks

/ awls [

( 5a"£ }c)\ /
@ R/ A\

(d) sparrow

foxes snakes 7

mice (by grass
e
Vegetation/seeds /
Options :
(a) (b) (0 (d)
. (1){squirrel cat rat |pigeon
A (2)| deer rabbit frog rat
(3})| dog |squirrel | bat | deer
(4)| rat dog |tortoise| crow

33.

A test cross is carried out to :

(1) determine whether two species or
varieties will breed successfully.

N

© (2} determine the genotype of a plant at

Fz-

(3}  predict whether two traits are
linked.

(4)  assess the number of alleles of a gene.

www.FirstRanker.com

B’

32. A9 femd w1 @ @@ o #H (a), (b), () W

(d) SrauTd = 8 T §, et
i
! . LR
seq Wi A

<IN

NG

faweya :
(a} (b) () (d)
(1) {fresdt| faeelt | =@ | HIR
@) | fem | aww| dew | @
@) | Tw | froed| formes| T
@ | =@ | ¥ | wgen | =em

33.  wdend g e ol e s ®7

(2) UH 9 FE, R gres fuifa w3
% fermi

(3) qaEEn w1 & fag fF @ 3w
(fordre) weer € A€l

@) faedl st % Qeftel @t e fuifa

FT F fau

Sl e R ST 2T

www.FirstRanker.com

(1) e faife @ & R e Q wenfri @
Sl TR ForA HON AT
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34. Read the following five statements (A - E)

and answer as asked next to them.

‘(7& In Equisetum the female gametophyte
is retained on the parent sporophyte.

(B In Ginkgo male gametophyte is not
independent.

The sporophyte in Riccia is more
developed than that in Polytrichum.

©

(D) Sexual reproduction in Volvox is

isogamous.

The spores of slime molds lack cell
walls.

How many of the above statements
are correct ? -

(1) One
»2) Two
M Three
(4) Four
35. Which one of the following human organs
is often called the “graveyard” of RBCs 7
(1) Liver
(2) Gall bladder
(3) Kidney
A4) Spleen
36. Which one of the following generally acts

as an antagonist to gibberellins ?

(1) TAA

(2) Zeatin
(3) Ethylene
&fl) ABA

e
{
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F9 fed 7w o= werdl (A - E) # ufen iR
Srem = T e T 2, SRR

(A) FFETEieH H, WEl LIRS AR
A~ 3247 T2 A1 T B

(B) &l T ASIEVE =ad T8I gl

(C)  Rfegar =1 =Y-3<f¥e TidigiEesy &
<o w3 w) qer § st fawfia
AR )

(D) Wﬁﬁﬁmwmm
4 )

(F) wmgd dieed & ssgedi § shifyem fufa
BRI
ST FHedl # @ frad wE €2

(1) "

2 =

(3)

(4) R

frorfeafas § @ W @ o 7E w1 g g
W T & Fomel & Ry &
ik |

(1) =Fd ()
(2) Tuamra

(3) FFF (R
(4) e ()

Fretforfer & @ T F T # S e

1 T O ¥ w9 F FE T E?
(1) 1AA

(2) Sfafes

(3) wHlAA

(4) ABA
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. 37. Tobacco plants resistant t0 a nematode | 37, W%W—m%ﬁﬁtﬁﬁmﬁ DNA"
have been developed by the introduction TR T PR (R Ffrel &
of DNA that produced (in the host cells). JES ) )
: : T s 1§99 gan
‘1 1) a toxic protein
_ J: ( )‘. ] prot (1) T fourem widm
g both sense and anti-sense RNA R
e A (2) e e wia-a1ed Y 99 HTRNA
b (3) . a particular hormone 6) T i
{(4) an antifeedant
(4) Uk TEmER (ufadew)
38. How many plants in the_ list given below 38. Tﬂ‘i} 3':7 ™ g ¥ Q fmﬁ Ty & m
. - have marginal placentation ? e,
" Mﬁﬁard G}’am.Tﬁlip Asp"eﬁ1gusz1‘.‘}1/r
i ’ ¢ e rTsI Zgfea, T, e
' Sl@ .hemp, Ch1’1<11, Colch1cme Qnion, AU 3 ! , W, for,
' Moong Igea Tobacco Lugpm . FifcaEH, T, I, A, T, T
(1) 'Ihlee (1)
(2) Four (2} ER
| B) Five (3) d=
@ s @)
39. For its activity, carboxypeptidase 39 % fo . #l
1'equjres : ' ﬁv_g Eﬁ SIEREENT B'Fﬁ %7
(1) Copper (1) e
: 2) +Zinc (2) =m
. (3} Tron | (3) =
(g}, Niacin (4) frofa
40. SEIRY) HAHFTU H qHA T H 7§ THR
40.  The second stage of hydrosere is occupied | N ) ¥
by plants like : : SRR LA T EAR SR
© (Y " Vallisneria (1) Sferwre
; ) Azolla ‘ (2) Ctew
3y Typha o (@) <TEw
(4) Salix l ) ey
FWE“WW“" AT e e R e et T
~www.FirstRanker.com
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41.  Which one of the following structures is
an organelle within an organelle ?
1) Mesosome
(2) Ribosome
(3) Peroxisome
(4) ER

- 42, In gobar gas, the maximum amount is that

of :
(1) Carbon dioxide
(2) Butane
3) Methane
(4) Propane

43. The first clinical gene therapy was given
for treating :
¥1)  Adenosine deaminase deficiency
(2) _. Diabetes mellitus
(3)  Chicken pox
(4) Rheumatoid arthritis

44. Which one of the following biomolecules

is correctly characterised ?

(1) Alanine amino acid - Contains
an amino group and an acidic group
anywhere in the molecule

A2 Lecithin - a phosphorylated
glyceride found in cell membrane

(3) Palmitic acid - an unsaturated
fatty acid with 18 carbon atoms

(4) Adenylic acid - adenosine with a

glucose phosphate molecule

b e Y P L G b Y b L e e

3
pd
e
i

41.

42,

43.

44,
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Green revolution in India .m'(_'urred
during :
(1) 1950’s
(P 1960's
(3) 1970's
(4) 1980’s
Cuscuta is an example of :
(1) Endoparasitism
‘7 2}  Ectoparasitism
(3)  Brood parasitism
(4) Predation
Consider the following four statements -

. (a-d) and select the option which includes

~ all the correct ones only.

{a) Single cell Spiruling can produce
large quantities of food rich in
protein, minerals, vitamins etc.

(b) Body weight-wise the microorganism
Methylophilus methyloirophus may be
able to produce several times more
proteins than the cows per day

{c} Common button mushrooms are a
very rich source of vitamin C

(dy« A rice variety has been developed
which is very rich in calcium.

Options :

Y Statements (@), (b)

{2) Statements (c), (d

——

(3)  Statements (a), (¢) and ()

(4) Statements (b), (¢) and {d)

45.

46.

47.

B

aird W g wifa fee <hm g8 ot ?

(1) 1950 % TF H

(2) 1960 & TwH H

(3) 1970 % g2U& o

(4) 1980 % TWF H

TIEE ( Fgpen) foa T F1 g

(1) 3= yTsifem

(2) dmea STeiife

(3) W gESiEa

(4) I

frefafad 9r F9T (a-d) W faer Fifeg

iR e Wl wE sy oren uw fawen

(a) W RifywhTa Egeensr We, Wi,
fazifir anfe @ s o 1 97 |10
U I WO

(by 2T F ghe A gart r%wsa?ﬁraw
HergeigiEy sfafeT TR w¢ T SR

e EA E e o aq a €

(©) mmwwmn(@jﬁ)ﬁérﬁﬂc
1 T SIgd 3TeDT I ¥

() T TE wEw fee fawfan @ mh R}
5 e agd g ¥

faewey

(1} %9 (a), (b)

(2)  _ET (), (d)

(3)  HH (a), () IR (d)

(4) A (b), () 3R ()
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How many organisms in the list given
below are antotrophs ?

. s - L
Lactobacillus, Nostoc, Chara, Nitrosomonas,
N.!'trobg}:!cr, Streptomyces, Sacharomyces,
Trypanosoma, Porphyra, Wolfia

(1) Three
(2) Four
(3) Five
() six

Which one of the following categories of
animals, is correctly described with no
single exception in it ?

(1)  All mammals are viviparous and
possess diaphragm for breathing

(2)  All reptiles possess scales, have a
three chambered heart and are cold
blooded (poikilothermal)

All bony fishes have four pairs of gills
and an operculum on each side.

(4) All sponges are marine and have
collared cells.

/
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h 50. The four sketches (A, B, C and D) given | 59, 1% f&3 T =R = (A, B, CIu D) H, =R
bfal.ow,l rspresent ‘f/\?ﬁr 1dlfferentf tt_';pes gf TER ¥ WO A femm T ¥ T | fir
animal tissues. ich one of these is L
correctly identified in the options given, T HI A e e A ¥ W e
along with its correct location and TR U IR U T T a1 FE o W@
. ién ? '
R fpnctlon . fZd ¥
at
(A)
\ (B)
¥
(©
3
oy
Ty
I
!
' (D)
: Tissue Location Function
E \ Columnar Secretion and
A Nephrc
(1><) epithelium pRren absorption
e (H|(A)
Glandular . )
(2)] (B) . _ Intestine Secretion
epithelium :
Coll Attach skeletal (2N 8)
3 Collagen
= \13)"(() fibri’s Carlilage| muscles to ]
A bones (3} (C)
. . { Smooth Hoeart ey
oar ﬁﬁ
(4.)1\(1)) mlum,lc Heart contraction @) (D) = &= A
tissue TR
o)
P wias 158 B2
"
Wm”'ﬁ PRI e - z - L A
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51.  Given below is the diagrammatic sketch
of a certain type of connective Lissue.
Identify the parts labelled A, B, C and D,
and select the right option about them.
Options :
Part- A| Part-B | Past-C | Part-D
Mast | Coll Macro-
1) as o' ABEN | roblast] MACTO
cell fibres phage
Macro- Collagen
g Fibroblast Mast cell
\/’(})’ phage - fibres )
Mast | Macro- Coll
3) Fibroblast| 2"
cell phage fibres
- M - | Collage:
(4) acre U "B Eibroblast Mast cell
phage | fibres
52. Sacred groves are specially useful in ;

N
(2)

G)

(4)

conserving rare and threatened
species

generating
awareness

environmentatl

preventing soil erosion

year-round flow of water in rivers

i

51.
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At fedt 1 @ U s foam H w Fafre
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- C
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".53... The figure below shows three steps (A,B,C)

. of Polymerase Chain Reaction (PCR).
Select the option giving correct
identification together with what it
represents ?

Region to be amplified
:EE_Z[I: ds DNA
5. l s ¢

l i [ | I Hl I vl
] [T,
3.ll—-—llllllli\
l -
5! ¥
T T, I

3 5

5

C

3 5
Optioné :

;{@/‘A - Annealing with two sets of
primers

( B - Denaturation at a temperature
: of about 98°C separating the two

DNA strands.
(7‘33; A - Denaturation at a temperature
of about 50°C

4)»”C - Extension in the presence of heat
stable DNA polymerase

-

54. The,rate of formation of new organic
matter by rabbit in a grassland, is called :

(1)  Gross primary productivity
(2)  Net productivity
_ L(-a,’)/E‘:econdary productivity

(4) - Net primary productivity

£ I I ITIMI 5F Sk et e e

53..

54,

www.FirstRanker.com

B

9 i w1 ® faa § deits 2 e
(PCR) & & =¥w (A, B, C) fe@m mu ¥
frerfafas F @ fva uw fages 4 & =W
1 e T we=r T R 2

' e fegr 9 T &
A . T T T i DNA
!
.
I !T [ ] I [ 1] [ ]
5 u
5 ll'lll NN
|
ST T R T
5' 3
C
3 5"
s |1 ) | .

ﬁm . L3
+

3

5

(1) A-9E90 F Q9 ¥ gy Tiem

(2) B - W 98°C & Wwﬁw
foed < DNA W% guw & 13

(3) A - 50°C ¥ AT W o

(4) C-aeUrdt DNA et Y safeufa
A form

fordt ura vt F @i g 42 dfaF vd
I91 & T I FEd §?

(1) &G wufas IEesar
(2) & IEEM

(3 fgdrae s

(4) Y& nuiE s

T IR A A
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55.  Which one of the following organisms is 55. fr=fafea 4 | fog w sig =1 R BHEE

sm.entlfxcally cqrrectly named, corr-ectly s 3 s Fradl &
. printed according to the International 3

Rules of Nomenclature and correctly ' WE BT T § qn e Waﬁ""f +ff f&m
described ? MR mm e
(1)  E.coli - Full name Entamoeba coli, a (1)  E.coli - Y0 A Entamoeba coli, WI7a '

commonly occurring bacterium in
human intestine

sfafedi § wmra: wmﬁwmﬁ

( P
2) Musca domestica - The common o
house lizard, a reptile (2)  Musca domestica - '
T&F Ty
@ Plasmodium falciparum - A protozoan
pathogen causing the most serious (3)  Plasmodium falciparum - T RIS :
type of malaria e e waifus mﬁt TR w0
(4)  Felis tigris - The Indian tiger, well AR B R o -

_protected in Gir forests. -

(4} Felis tigris - YRA =™, TR SIel §
wedl wifa gefara

56. Which one of the following represents a
palindromic sequence in DNA ?

56. Trafafga 4 4 9 & 4 DNA F Wit

(R 5 -GATACC-3 it arwrm wifan wran &7
3' - CCTAAG - 5/ (1) 5 -GATACC -3’ '
' -G?ATTC 3 3" - CCTAAG - 5
uAG 5 (2) 5 -GAATTC-3'
3' - CTTAAG - 5' K

QS/)’ 5 - CIZCAATG -3
3 - GAATCC - 5

(3) 5 - CCAATG -3’
3 - GAATCC - 5'
#4#\ 5 - (Ef’!&TTAG -3 (4) 5 -CATTAG-3
3" - GATAAC - &' 3" - GATAAC - 5'

57. Vernalisation stimulates flowering in : 57. STEERT BT o e seifea ﬁ_‘n‘%?

: | (1) Ginger (1) <= o
i (2) Zamikand () = S
"~ (3) Turmeric (3) w
{4)— Carrot (4) TR
A . e e | e e s W i . -.:":0,..:-::‘::. S T e h e i s PO o W DG Y
S ————— | | S | et s

{

" . - i
. o . PR e,
/“‘ . . ar . ¥
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. 58. .Which one of the following statements is | 58, uferen & deof o fr=fefas 4 @ 9 @

" correct with respect to immunity ? Fod T 2 |
(1) Rejection of a kidney graft is the (1) 9% J01 ) Srealiepi g B-ereeproeit
function of B-lymphocytes T w1 T

*’ 3 Preformed antibodies need to be (2 T ( )VHTCI % El‘%.a; : .I A
a g\/ injected to treat the bite by a viper el FfHfa Yt (wfafus) oA
BN snake e s sl B
’ (3) The antibodies against small pox (3) =9% a; st a; vfa 1@ o
pathogen are produced by (wfafdel) o1 e T - ol
T - lymphocytes EGIES
E‘ ‘ " :(4)" Antibodies are protein molecules, ) , (< o ) 3:"11 m g
i ' each of which has four light chains forl weldeh & - =T Beah farermy gt
i ' 4
‘}. 59. Which one of the following sets of items in 59. E E.E R 5. 1(1-4) 73 fen
B ~ the options 1 - 4 are correctly categorised fasmey A fed T wdl A, TF FAER T T
E . with one exception init? e St A T T R ?
\
| [ L gyoft AR
ITEMS CATEGORY |EXCEPTION
Typhoid, Bacterial
; < |(1)| Pneumonia, d.c ¢ ) Diphtheria (1)} e, me femsifan
E Diphtheria iseases Fercroitfa
. ﬁ . "_[MUAA, UAG, | - UAA, UAG,
: 2 UAG
_ { (}Q\ UGA Stop codons ‘ UAG (2) UGA Y T2
3 . -
Kangaroo, Australian (3) I SRR qae
3
E, (3) v;(()al;;t ma rsupia]s Wombat '&ﬂam, W -q-rgﬁ]—qa -g-l-uﬂ
. om
Plasmodium ‘ FlEE |
i | Protozoan (4)
i . {4) /Cu:ﬂ.‘u.'a, B Cusculu W W
" o \ \ . . parasiles ‘uﬁﬂa'l
L LN Trypanosoma i
% .
&g{!‘;mé!ww’mwm«;awu-‘--', e e b b e e e P , .

w
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Which one of the following pairs is
wrongly matched ?

(1)  Mustard - Synergids
2 Ginkgo - Archegonia
{3) Snlvinia - Prothallus

(4) Viroids - RNA

Which one of the following is a wrong
statement regarding mutations ?

\&,)/Change in a single base pair of DNA
does not cause mutation

(2) Deletion and insertion of base pairs
cause frame-shift mutations

(3) Cancer cells commonly
chromosomal aberrations

show

(4) UV and Gamma rays are mutagens

Read the following four statements
(A-D):

(A) Both, photophosphorylation and

.~ oxidative phosphorylation involve

uphill transport of protons across the
membrane.

(B), In dicot stems, a new cambium
originates from cells of pericycle at
the time of secondary growth.

(C) Stamens in flowers of Gloriosn and
Petunia are polyandrous.

(D) Symbiotic nitrogen-fixers occur in
~ free-living state also in soil.

How many of the above statements are
right ?

) One

B WTWO

(3) Three

24
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61.

62.
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famfafea i #9 ur ww S e fera
T E?

(1) @i - e wifgrewd
) fF# - sttt

(3)  @rfeafaw - H¥dEy
(4) =rAUTSH - RNA

IafEd & vy ° frafefea § § 9 @

UHF FYA T @ 7

(1) DNA & 375 T & 39 I8 § yiieds
& | weaferd e € ¥ .

(2) é’aﬁhﬁ%ﬁa’rﬂamﬁéﬁq@ﬁ@-
T}TT{WEWT:{HFET{ - T |

(3) S AT 4 T o
feraeroa gen <@ s B

(4) UV do e Tl Seafadert A 3

Fretfirfiaa = el (A - D) % wfgu =

(A) wIRIWFEIR@AT qul. A fea
RIERITETH, SH 5 e & SR T deA
F1 grEey TR € ¥

(B) 51 sornsht 7 F ¢ e, foetaes gfig
g ufdsy FY wifverel @ a4 31

(C)  TedsTar qo rﬁgﬁar%ﬁtrﬂﬁﬁw
GF B |

(D) mmﬁrﬁaﬂwﬁaﬂﬁw
sEaeen ¥ ot i 9 )

I wUAl o fFay wed wWa 22
(1) T

2) &

(3 M
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64.

| 65.
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Where  do  certain  symbiotic
microorganisms normally occur in human

body ?
(1) Duodenum

A2} Caecum

(3)  Oral lining and tongue surface

(4) Vermiform appendix and rectum

The secretory phase in the human
menstrual cycle is also called :

o \j}f follicular phase and lasts for about

13 days

(2) luteal phase and lasts for about 6

days

(3) follicular phase lasting for about 6
days

(4) luteal phase and lasts for about 13
« days

Biolistics (gene-gun) is suitable for -
(1) DNA finger printing

(2) Disarming pathogen vectors

37" Transformation of plant cells

4y Constru'cting recombimant DNA by

jouung with vectors

A fall in glomerular filtration rate (GFR)
activates :

(1) posterior
vasopressin

pituitary  to releasc

(;)-/1 juxta glomerular cells to release renin

(3)  adrenal cortex to release aldosterone

{(4) adrenal medulla 0 release

adrenaline

1

i

i -

]

b

i 66.

|
o ot SR
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67. - Represented below is the inheritance

pattern of a certain type of traits in
humans. Which one of the following
conditions could be an example of this
pattern ?

FEMALE | MALE

FATHER

<

Son

(1) Thalassemia
(2) Phenylketonuria
(3) Sickle cell anaemia

(¢~ Haemophilia

68. Which one of the following cellular parts
is correctly described ?
(1) Lysosomes - optimally active ata pH
of about 8.5
(2) Thylakoids - flattened membranous
sacs forming the grana of
chloroplasts
(3) Centrioles - sites for active RNA
synthesis
(4) ibosomes - those on chloroplasts are
larger (80s) while those in the
cytoplasm are smaller (70s)

%mnmwp}unnpu;p WM b et b b

s )

;- o RN
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i

(2) emseiwizEd - 992 foesier 98 o wen
et FaRem=l & i1 o €

(3) Wfearem (TRe &%) - wfwg RNA
Hyerao) & LU

(4) TSI - SRR T EN AT 9

(80s) ¥ T EEETen § 2 AW TR
(70s) & 2 T}
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" 69. Which one of the following options gives | ¢9, fr=fafas d @ fau = faaey # o Wi
! the correct categorisation of six animals F TTH -} THER F B 9) 9

according to the type of nitrogenous

wastes (A, B, C), they give out ? oAl ST (A, B, C) ¥ SIER WE-
S wE gt A v R 2
" A
1
i AMMONO UREOBTELIC URIC(STELIC A ’ : ¢
TELIC : s st | gRar sEsi | gite s St
b
: Agquatic | Cockroach, | Frog, Pigeon, ' Haw
| (1 . . » g,
Amphibia Humans Lizards 1} | Siefta gemifsar | & dE, 7Y
| | i o ' fovmha
l ) P'!geon, ‘ API;?L;:; Cockroach,
i Humans Lisards ! Frog 2 Srefta Yrmifaa, .
i E 1] ﬁ ﬁ I : 1 E
i F Aquatic Cock h
| 3) Lizr:rgc;ls Amphibia, 0;;:: '
| H . | etta Wemntfe,
J‘ umans (3) m’ﬁ ’:( a ,
; . A tic Frog, Pigeon, Lizards, 7
b N uﬁfﬁ;‘:ibiﬂ Humans Cockroach
P 7 FHee, foumfadi,
Ny (4); wrAra YEpifae | Hew, 94 N

!
i
!
i

70.  Which one of the following characteristics

. 1fs con;mon both in humans and adult 0. Frefafigs 7§ @ ag S5 91 T wao < e

rogs ? - L .
& qY] TR WEH, O § WA 9741 S ?

: ‘/()/_‘--’,Ureotelic mode of excretion

(1) gfean st fafy = 3o

- i +—*.....:v;-~-::=~-m"“l""“‘ e
" .

i (2)  Four - chambered heart (2) =R-weftd wed
¥
Lk
‘-
“ . {3) Internal fertilisation (3) erafeF fad=a
{4) Nucleated RBCs (4) Fefra o9 @ B

: wwzgwuyun E SL TN RSN AL ENE B |w|-i‘.::;1|=!i!:;>|ﬂlw EER P SN RN R MURREME Gl L po o
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71. Ideﬁtify the human developmental stage | 71, 9 farard 7ot o uf@er ey #] TS
shown below as well as the related right T 7T wE Y B Y TF T e =

place of its occurrence in a normal

pregnant woman, and select the right H T s Fg m’ﬂ'm €, 51 T H TEH
option for the two together. e fohm w faerey § =t faan man 22

Options :
Developmental Site of T
stage ite of occurrence ) 8 - wifvewta teen | Tl AEFT F Ay
L~ 8 - celled Starting point of (qa) - g W
: w morula Fallopian tube e Tfaw ¥ T
Middle part of @) TR (T Ly
(2)| Late morula Fallopian tub halil
21op1an tube et =fers & affm
End part of (3)| =wEE (FRF) .
(3) Blastula ) i
Fallopian tube _
(4)| Blastocyst Uterine wall || ()| i fufa A

72. wH-ferwmwnsd dmg?
(1) 7 e =1 = am 2

- 72.  What is the function of germ pbre ?

(1) Release of male gametes

(2) Emergence of radicle (2) HEFT &1 femer
(3) Absorption of water for seed (3) SSIgRY 8 @ 1 WY
germination @) T - N

(4) Afiitiation of pollen tube

73. ARAfW w1 fral ¥ fau 5@ feEE

% For its action, nitrogenase requires : SICEEETIRICIE
&) Super oxygen radicals (1) 9 sifedtem ewey
T (2) High input of energy (2) ot @ 3= AW «
(3) Light (3)  vEw ' - o

mnz"' | (4) Mn2t

R T T L3 R & Lo Bl i N 1 B R L A N Py BN, [ RIS R

oot i+
/ [
|
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74. In genetic engineering, the antibiotics are
used :

(1) to keep the cultures free of infection

‘ sz as selectable markers

L - (3) to select healthy vectors

P {4} as sequences from where replication

: starts

75. .Through their effect on plant growth

i . regulators, what do the temperature and

light control in the plants ?

! (1)  Fruit elongation

i (2) Apical dominance

) Jj,)/ Flowering
| @&~ Closure of stomata

: 76. What is it that forms the basis of DNA

i ~,Fingerprinting ?

;’ "' b
e Mtellite DNA occurring as highly
‘ ? repeated short DNA segments ’

(2) The relative proportions of purines

; and pyrimidines in DNA

i  (3) The relative difference in the DNA
_ E ’ occurrence in blood, skin and saliva

i - (4) The relative amount of DNA in the

ridges and grooves of the
fingerprints.

29

74.

75.

76.

B
FatiTes Titfraftn § Yemaieas =1 saan
g fory foran smar €2

(1) Haef = dhau-ed «= g @ |

(2) =W A fage) & ¥ H

(3) X HawEHl % g A |

(4) U ATHAON F w9 F wel } whrghe

TS BT R
=9 gfg Frefset =t gutfea «5es, T aan
werre el N 0 Frgfe ava 2
(1) el = et
(2) irdee yurfaa
(3) g
4y e sgdm

9 F1 T & S DNA ferdifen = snur

Bfte?

(1) T DNA 9 a1fq grafda 2R g
@9 DNA @vel % ®9 ¥ a1 9r S
2l

(2) DNA ¥ #5E I qun i &
At ST

(3) I, T 9 @R ¥ faEmm DNA #
sTfaE S

(4) STfe ol ® FeHl g @ik A DNA
! FATdE A

www.FirstRanker.com
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77 Gelect the correct stalemen! aboutl | 77 Jafafaum & fauy 4 @ wud gim
biodiversity :
(1) Srafafaus w1 wem fawfas < w
(1) Conservation of biodiversity is just a TS Uk 15 2 |
fad pursued by the developed
countries. (2) TR Al TSR HeRH A f
(2) Th(—‘._' desert areas of Ra!asthan and e A Ty ga o fae Wﬁ oyl
Gujarat have a very high level of .
desert animal species as well as S E |
numerous rarc animals.
(3)  BUETE F 92 SATH W I -
(3) Large scale planting of Bt cotton has A, farfarear o =7 @9%'—1’@ Sl .
no adverse effect on biodiversity. LT
(4) iyt = 9% SgE I g e

78.

el Lt i

(4}, Western Ghats have a very high
degree of species richness and
endemism.

The domestic sewage in large cities :

(1) has very high amounts of suspended
solids and dissolved salts

(2) has a high BOD as it contains both
aerobic and anaerobic bacterin

M processed by aerobic and then

anaerobic bacteria in the secondary
treatment in Sewage Treatment
Plants (STPs)

(4) When treated in STPs does not really
require the aeration step as the
sewage contains adequate oxygen.

BB Ve e et o e o o e e

e

e afte T F Wy Rt o
Sl 2 |

78. W% VU H el e

3 froifaa o w T8 wEO @ agd

rferer T B B

7 381 BOD Bl § Fif® gqd age
T STATTEE S YR & Sl
= |

1, HeErwE STER G (STPs) § fadas
AR H, vge @ SEEtd S g
1 IHF OE AATEETE SFAT G
TR HUT AT I ¢ |

# S5TPs # ITaid $O W o §

Teree § wata AfesE gt g
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80. IRead the following four statements

(A -D): '

YA} Colostrum is recommended for the
new born because it is rich in
antigens.

Chikengunya is caused by a Gram
‘negative bacterium.

(C)~Tissue culture has proved useful in
' obtaining virus-free plants.

(D) Beer is manufactured by distillation
of fermented grape juice.

How many of the above statements are

. wrong?

’ '@/(‘I)/' One

(2) Two_/

(3)  Three
(;I) Four
i
§1’ " The supportive skeletal structyres in the
: human external ears and in the nose tip
are examples of :
- {1 cartilage
(2) ligament
(3) areolar tissue
"(4) "bone

B TSR i IOt ST 7 Lo P L FTTL 20 SOTER B HI 5 TR TES 1L R LI @ BRI sy s s o i W i b e

80.

www.FirstRanker.com
. @ ) P}angs with ovaries having only one or a 79. 3 Nt o s afererdt o Fam T 7§
.. few ovules, are generally pollinated by : 52 R @ dfor T ) ¥ 'HT
(1) . Wind forers 210 G 32 e
{2}y Bees 1) =
(3) Butterflies (2)  wywhEEai
(4) waft o

Frfafas = wui (A - D) =t ofed

(A) TS IR i Freilers (Fo) T
feru forerman st wrfew ww=iifer o e
TR A A 9 e

(B)  Fasfran v um-fritfea stamy & g
Bre |

(C) FaF "af7 aera-ted W ya =5
o e fag ger®1

(D) =TT %1 3e9req forfvam o @ &
T g1 ey 5 #4

ST FwAl F fHTY we Tom ¥
1) =
(2) @
(3)
{4) =m

81. WAl % el FH d°W WH F IR BR H .

AT ST WO foras Samo §7
(1) Jurfey

(2) +mq

(3) dmEEY waw

(4) few

www.FirstRanker.com
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82. As compared to a dicot root, a monocot | 82, fesEteast et F1 gAN =l u;qﬁ:ﬂquﬁ LGl i
root has : P T T R ?
(1) Relatively thicker periderm (1) e B -
2) More abundant secondary xylem
(2) Yoy @) fedtas are F sifue T
3" Many xylem bundles '
(3) ¥Ed W I qd
(4) Inconspicuous annual rings
(4) FErR AN aEg
83. Which one of the following organisms is ) - 3 i
L correctly matched with its three | 83 fratfefas 7 @ fFa T <M 1 ?ﬂaﬁ T
f characteristics ? faferseanati & @iy O e & 2
: (}( Maize : C, pathway, Closed vascular (1) HFR: Cy Qe ST Heg 'fgﬂ,l-"fé?m
bundles, Scutelium
| (2) e C, N, Yoy |, Afeer
. (2) Pea : Cy pathway, Endospermic _— .
: seed, Vexillary aestivation ) ‘
i
H A o . a;naﬁf f‘a—,:q-m T
‘ .\;\‘* (3 omato : Twisted aestivation, Axile (3) eHtel: HEFI , A
L v . placentation, Berry Hreear, S
| ¥) Onion : Bulb, Imbricate aestivation, (4) S 9ed, RO T fomm, whT
g Axile placentation AT ' '
84. Which one of the following pairs of | g4. foifeifgd § § 8 & WS & TUEA3
i : . ic : .
B chemlc_al substances, is correctly el & T dvi £ T
categorised ?
i (1) Secretin and rhodopsin - &) et qen eI - W8 'I.Elsé il
ﬁ Polypeptide hormones 2) 3 Frgetf a1 areefE - e
i )
(2) Calcitonin and thymosin - Thyroid (ezdel) & wHH
hormones ‘ '
(3) R qun wdfEe - swmE ¥ w6
(3)  Pepsin and prolactin - Two digestive ' 2 A & A QTI!TTE"‘I -
enzymes secreted in stomach . ’ ) _
W . . (4)  Srofr qen e - g A | v
Troponin and myosin - Complex
proteins in striated muscles S o WS W

Fist e B A THE SR TR ARSI LU U

kel

- i ‘
: iﬁﬁiwwn:"’!' =
LN R T S I SRR )

- www.FirstRanker.com
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85.

Identify the molecules (a) and (b)
below and select the ri

their source and use.

www.FirstRanker.com

shown

ght option giving

~CH;
"N . 0o
/CHS
H
a
@) o
H ,
O
(b
Options :
’_ Molecule Source J Use
’ | Sedative
. apaver i )
(1);_42) Morphine : and pain
somniferum
ol /f killer
Accelerates
Erythroxyl the
)l (a) Cocaine Tyhroxylhum transport
coca
\ Of
dopamine
Depressant
. Cannabis and slowsg
3 b) Heroin ,
©) (b) Her _ sativa down body
functions
] .Producos
(b) Cannabingid b:{l;c:;g::r hallucina-
tions

www.FirstRanker.com

- B

85. A feamd o1 2R srvpstt (a) wen (b) %) v
T

- CH, -
N o .
(a) | HO ,
H O

(b)
et
k! wi ELDit
. EEE TEE e
(1}|+ (a) wiwTH - ‘
S &
TRemEeT | ofiEE #)
(2} (a) =& N
?
$on I9F 2T
(3)| (b) &= H )
F R
. | fayw 4w
b
L(‘I) (b) Ffaarz | | N

www.FirstRanker.com
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86. Identify the meiotic stage in which the | 8. &g =M @l QWWWEWW
hom(_)logous chrowosc‘)me's_se-pjc\raae whlle HEE () T e A E
the sister chromatids remain associated at . " ) o
their centromeres . =& % E[“ E m (6“‘5-‘1"“@ WW
fefg it (dgrfrrd) A WA E -
J8¥~ Anaphase 11
(1) ag=meEd il
(2)  Metaphase |
(2) e |
(3) Metaphase 1
(3) Al
Mnaphase I
(4) GeEmEE
87.) Which one of the foliowing statements is ] N .
wrong ? g7, FrerfafEa § #1191 TF &u7 T2 2
Intine is made up of cellulose and (1) efa=e Segers asn SR 1o e
pectin ¥l
When pollen is shed at two-cefled (2) = T 2N FATVTRT SFaw N wIal g A
. stage, double fertilization.does not Sry-Frie AR B T o
. take place.
. @y A wifer, S R @ afu ag
) Vegetative cell is larger than TNENFY
generative cell. STl & |
\_(4)/l”ollen grains in some plants remai (4) FB T H A ﬁ"ﬁ g dh
viable for months. Y/ Saem s wWa g1
88. The idea of mutations was brought forth 88. TR (SRS H1 R F1 e
by : wea e an?
(1) Charles Darwin, who observed a (1) e gifedE, fawe vl wag 9 F
wide variety of organisms during sea P <iEl wy arh fafawar 3@y ot
voyage N .
.‘ \u/ . (2) TS W, e arewe s
N 2 Hug.n do lecs, who worked on T ‘
' evening primrose
% ea, e wew deEag W aH
i (3) Gregor Mendel, who worked on @) m ’ w
Pisum sativum [ERUCIE
(4) Hardy Weinberg, who worked on (4) g‘rﬁ—aﬁ?{aﬁ, ol wafie & sfiet Tl
allele frequencies in a population AR I % foman o
' 5 Www . FirstRanker.com:
n I e

; iy T
eodl st o L W
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.‘_i'l‘,R'ead the following four statements
o H(A}"D)

(1) One
{2) Two
. »\ﬁf Three

. (4)- Four

90.

N(y Pteropus and Ornithorhyncus -

o Tvgﬁcj;‘r_;letallic spheres of radii 1 cm and
" 3 cm are given charges of —1x10-2 C

2l

35

(A) In transcription, adenosine pairs
with uracil.

?B‘;—\Regulation of lac operon by repressor
is referred to as positive regulation.

(C) The  human genome

approximately 50,000 genes.

- (D): Haemophilia is a sex-linked recessive
disease.

has

How many of the above statements are
right ?

Which one of the following pairs of
animals are similar to each other

pertaining to the feature stated against
them ?

(1)  Sea horse and Flying fish - Cold

blooded (poikilothermal)

~ Viviparity
(3)  Garden lizard and Crocodile - Three
chambered heart
(4)  Ascaris and Ancylostoma - Metameric

segmentation

and 5x1072 C, respectively. If these are
connected by a conducting wire, the final
charge on the bigger sphere is

Awww.FirstRan ker.com

www.FirstRanker.com

89, ﬁrmrﬁwF@aanamﬁ(A-D)aﬁqﬁ:q:

(A) FTEfFwm (s7qde) ¥ weErgs
8A % Ty Sy s 3

(B) RAM TR lac w17 ¥ frgms =
Yo Frama s §)

(C) Wvﬂﬁnﬁmmso,ooovﬁﬂﬁ%l

(D)  Erwteltan T fom-weer sy 3
2

IR FuA e som wh ¥

(1) W=

2

(3) @

(4) =R

9. Frefeafa 3 4 farm o 9 % 26 i o

wﬁﬁﬁ@m%ﬁwﬁ@l@%w

g2

(1) W%HWWW— 30
(WWNCT) ef”\\o,;-

(2) g AWM FFHRRFG - TSI

(3) T fovwet (frre) qen worss -
T writg gy ,

(4) T=RE a1 Errenew - fyas
[ESR L

9. Tem T3 cm o & g & & e &)

FHA: ~1x1072 C AM5x10-2 C aydy
fem man # e, 6 TF s )} e
fean wma 1, a2 et W i A A

; &
11072 ¢ \/ = Vv (1) 1x10-2¢ 8= @%‘%‘7&"’9»
(2) 2x10°2¢ o A (Wi 2x1072% GrE K
.o B sx1072¢ g= ;,%j\\o Qf«* ) 3x10-2C J _J
@) 4x10-2¢C S - % (4) 4x10-
@y

RO . www.FirstRanker.com
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92.

93.

94.

ay T 1o
( ) 2 5 q}gs,g ‘990
(2) s
3w
3 s
(4) 2ms

www.FirstRanker.com
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- -"\
A proton carrying 1 MeV kinetic energy is
moving in a circular path of radius R in
uniform magnetic field. What should be
the energy of an & = particle to describe 2
circle of Same radius in the same field ?

1) 4MeV . \;)_’/ @3\1@

) 2MeV e

(B) 1MeV ”ﬁ Y
4) 0.5 MeV R Pt

A circular platform is mounted on a
frictionless vertical axle. Tts radius
R=Zrn__.a_nd its moment of inertia about
the axle is 200 kg m?2. Tt is initially at rest.
A 50 Kg man stands on the edge of the
platform and begins to walk along the
edge at the speed of 1ms ™~ ! relative to the
ground. Time taken by the man to
complete one revolution is

The ratio of amplitude of magnetic field to
the amplitude of electric field for an
electromagnetic wave propagating in
vacuum is equal to :

(1) unity
Weed of light in vacuum
(3) reciprocal of speed of light in vacuum

(4) theratio of magnetic permeability to
the electric susceptibility of vacuum

El

'('

e e L B N S gl

www.FirstRanker.com

92. e W12 T Tl St 1 MeV # ! 7% Fret

e T e 4 F R T & R T
3 fr w T R @, R o - O S
FepeeR 21 TRl afe = weh e H st e
¥ o ® Tfa HT T ? "

(1) 4 MeV

2) 2 MeV

(3) 1 MeV

(4) 0.5 MeV

szﬁmmwaﬁﬂﬂﬁﬂé*ﬁim%{ﬁm
fr | T H ) B R =2 mB TR
e ST 200 kg m? 31 wnw W W
Porrerareen  $1 50 kg FEEN F TF A
gﬂﬂ?éﬁﬁ?ﬁm@a@m%ﬁr{w-
fepT (3ITAfET) ﬁ-m%vﬁalms—%aﬂ
& Eer TRY HT ¥ W, T AR g0 TH
W{Uﬁﬁmwm

L s
{2y =s
Gy s
(4) 2ws

e % i Fet P TEw T

W,Wﬁuamagaﬁ%.mﬁﬁm

n @

() frafa & g & 47 & S

(3) frata § wETw % AT H HEHH H TN

@) st & e A (TG
o1t g e (%qauqﬁl) ¥ srad

& U

‘. - www . RirstRanker.com

PEPETTTIIT FIC VAR P 3 .




P R nke .C:0|||
WW,FlrSt a r

i R er.com w
WWW.FlrSt ank

37 B
"95.‘ A magnetic needle Suspended paralle] to

©-a magnetic field requires /3] of work to

turn it through 60°. The torque needed to
< . Mmaintain the needle in this position wij]

95, Fm‘rwéﬁ%mmm
LW F 60° yAid & farg A1 #
AT TFHa gt 3 H},Wﬁiﬁ‘iﬁf@rﬁlﬁ
W@%WWW—W(%)

s sy &1 HH €1
© 2 e
2 A 3
@ 243 W
& (2 243
NCIES JC I

%6 10 cm et o v ) 10 cm Bwd g8
wﬁmﬁaﬁaaﬁg@qa&r%'%ﬁwm
T T B 5 5 i
AT B, T8 20 em g7 2 A, Tfifar =
T gt |

(1) 5 cm

I(2) 10em HM

L

(1) 5cm
‘ 7
3) 15 em u o (2) 10 cm
4 s k 3) 15 cm
@) 25em (4) 2.5 em
The moment of inertia of a uniform circular frdt TF W TIHR e (aﬁﬁﬁ) F HES
disc js maximum about an axis for '
3 rperpendicula:‘ to the disc and passing _IJ. st & s, TH ‘ w
through : TG B 37 a7 Tt g -

1) A9F g
(2) BE By
(3) C? #mm
4) D e

www.FirstRanker.com
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which of the following input will be
correct :

E:Dj%[:}y

A B C RyC v
M o 1 0 v
@ 1 0 0

e 0l
4) 1 1 .

Pan Y
[ 0 |
¢ v
|

e

38
Which one of the followiny plots | 98,
represents the variation of gravitational
field on a particle with distance r due to a
thin spherical shell of radius R ? (ris
measured from the centre of the spherical
shell.)

(1) ,,4«\5/
6 - T
g "
%/, AL
99, To get an output Y =1 in given circuit | 99.

www.FirstRanker.com

Frifera TRl (eTerEt) H | R W OAE, R
Sy % e TeTER w1 F R I R
me{arﬁmuqﬁaﬁ?m%?

o=

(1) F

3)

mmqﬁqaﬁﬁﬁmﬂ\(ﬂmﬁ%
.mmﬁaﬁaﬁﬁﬁﬂmﬁ’&sﬁmﬂémz

A B C
m oo 10
@ 1 0 0
3y 1 0o 1
w1 1 0

IR T
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" 29 ‘1 T% o T G B \l 1 ._t_'rr &QN
ISP : 39 > 3
100. WWWWWW

) y=3 sing(SOt—x) &

- ++100, The equation of a sim

ple harmonic wave
is given by ;

Y=3sinT (50t-z), ¢ sinon (£~

_ _ L aﬁxaanyﬂaﬁaﬂnmﬁ% N, HAfirmay
4+ « . Wherexand ¥ are in metres and ¢t is in oo
£l seconds. The Tatio of maximum particle FOLH o -3y IR B
A velocity to themlﬁl‘}y, 5 1 Y
B CEE L
) At = T o
3 4 N () 2¢ oo X \9 o
(2) 2= Y E@ 3 /{ —~ 9 \©
V- ne Y LA
. -~ '
] 4) 37 ERTY 7
101. Fﬂq’twﬁmlﬂzﬁmﬁaaﬁa‘ﬂﬁz’f%ﬁa
101. A parallel plate capacitor has a uniform T U9 farp @y THER A ey
electric field E in the space between the - 3
plates. If the distance between the plates A R & R ﬁ & d '6’} TN T i
is d and area of each plateis A, the energy F1 EET A ) @, el wrad St 1 upy
stored in the capacitor is - S Lo 2 - < “ﬂ/.
i WosBAd L\ T - 1) e EAd €T
: 1 ~ <y . QQ
- e T2 : ¢, ) [ - \
1 2y 5 EoF ' \ @?‘ﬁd e ¢» B (2) ESOE‘Z - = L\’
: AN FRAL_ =
(3) EzAd/so R (B (3) E2Ad/e ©
1 _— Q&VL ) -
= “ 1
; & FeE2Ad Y W geEad | - gC
: £ '

g3

4.7 102, The power dissiéated in the ‘circuit shown

.ty inthe figure atts. The value of R 102. st A EALERIE iae Wﬁiﬁ_—&m 30 M ¢

18 - R R \QL
R R — RN
S nS YT
“ R@ | A : LVQ.—
56 [OR - rﬂjf_n_j .
10V 10V N )\%
SR
1) 300 - (1) 300
() 200 St 2) 200 feX@ — 20
(3) 150 3) 150 SR &
461 4 100 et
Soot roonrt = ISo R
g wo AN

! ".’fl‘( g
www.FirstRanker.com g
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103. If v, is escape velocily and ¢, is urbital

velocity of a satellite for orbit close to the
earth’s surface, then these are related by :

M v.=27,

103, 7if o, T AT R A 7 A Tz R e
% ufgrmr s RRE S9UE T AT oo B
A, B A TR B o

1) ve= 3%
2 o= J2te @) o= VIve
(3) Vo= Ve : (3} vo=7,
4y v,= 2y, (4)

6e= 2%

104. A stone is dropped from a height h. It hits
the ground with a certain momentum P.

104, T T Y b S A PR S 1 A€ WA

If the same stone is dropped from a height P@ A T %’_ e weer F, 7

100% more than the previous height, the $aré A 100% ifew e W frem v @ g

momentum when it hits the ground will W-qel ¥ THA FER TaF wow A ufEds | ]
, change by : . 2T (.

(1) 100% (1) 100%

(2) 68% (2) 68% s

(3) 41% (3} 41% G

M% (4)  200%

105. An ideal gas goes from state A to state B | 105. fe@m T P-V 3@ & IR, TH aresl g

) qF fafus vl gro feufe A 9 ffaB s
& e S R

wia three different processes as indicated
in the P - V diagram :

A 3
™
Pl 37 B :
o
V—
V—
If Q;, Q, Qj indicate the heat absorbed by .
the gas along the three processes and gfg 37 19 WA H, FERifed FHEE:
: AU, AU,, AU, indicate the change in Qq, Q, U1 2y 3t etafe el A wfEad i
internal energy along the three processes AU,, AU, T AU, & @ : s
5 respectively, then : A 0.50 \Hm u AU .
i > > > - "
f (1) Q3>Q>Qqand AU, >AU,>AU, (D Qa7 mETeTmm
: 0,>Q,>Q; and AU, =AU, = AU, (2)  Q>Q>Q; T AU, =AU, =AU,
: (3) Q3>Q,>Q;and AUy =AU, =4AU; (3)  Q>Qy>Q T AU, =AU, =AU,
4 Q=0,=Qzand AU, >AU,>AU, (4) Q,=0Q,=Q, ¥ AU,>AU,>AU,
' ?;i""-'-?t iiljl-iﬁw-f-.»rxj‘-ewu-.‘ Sy ket

g i s e e s e

L

’

~t www.FirstRanker.com

N3 " T S Rt

divdersdtichai sz -

bt B R W ICT.



1

irstRanker.com
www.FirstRanker.com www.Firs s
41 B
1 106. Two radiations of photons energjes 1 eV 106. ;1 eV a9 2.5 eV 3t & B~ fafur
i and 2.5 eV, Successively illuminate a > feht ST et R
;D'@ \'4 ~ ;{plri:otose'ﬁsitivg metallic surface of work & o, ( ) B
X o “function 0.5 eV, The ratio of the maximum F1 7E Hd T T *1 %1 wer1 0.5 eV
. | speeds of the emitted electrons js - . @, e Seafsta seteerHy a1 Ay
‘ o _
o gt el T S By
1y 1:5 ot = _
| 71 *S (1) 1:5
1 g “ % |
ot %% 4 R
T - S 1 3) 1:2
- (4) 1:1 C 7;% ’
— o
f = OF B 4) 1:1
- S P
[ &} “
e @ For the angle of minimum deviation of 4
C;' prism to be equal to its

refracting angle, | 107. f&&} fing &+ =AdT oo ST AN IqH

the prism must be made of a materia]

L . ., whose refractive index :

' (1) s greater than 2 ‘ . 4

Wy Y s

§on (2 2 1% e Sin WGP A
(3) ]iesbetween2and:g‘§r"CJJ—J)A, (3) 235:'.{\/5%3&3 | &

(2)  lies between V2 and 1

R

(4) s less than 1
po (@) n 4) 149 %y

. Ifthe momentum of an ¢
. by P, then the de Bro

lectron is Changed

glie wavelength | 108. femett SARA F Ham P R vfady FH R

| dssociated with it changes by 0.5%:z.The T WG -t qirde 0.5% fRaffa &

x jni.ti‘al rrjo‘mentum. of electron M\éli_lzy/ Bl A ENEMERT! IR g3 B .

- .(1) 1“06 lP_ " AfL-YV‘LM I-':_ c-}&& (1) 1oop /\:._’_g}_

@ 200p (2) 200p o
% 400 1 fos V2 W 3 00 T At = A
: ? =S 400 P -

Sed 0 o % = X000
NP r L pre
b d (4) 200 P A
OO = 1S
Prive 1= Prgs
Toe- - \ ¥
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109. Three masses are placed on the v-axis @ | 109, farfars worl B @A T4 x-20 T 58 TN
300 g at origin, 500 g at v=40 cm and T
400 g at x=70 em. The distance of the ' '

centre of mass fram the origin is: 300 ¢ &1 T8 HA famg 9T, 500 g *1.

(1) 30 em v =40 cm T AT 400 g ] x=70 cm T
m,m@a—aﬁmmzﬁhﬁéﬂﬁ:

\/@jﬂ'ﬁm/ e
(1) 30 c¢m

(3) 45 cm T .
(2) 40 cm

(4y 50 cm (3) 45 em
(4) 50 cm

110. A car of mass m is moving on a level

: circular track of radius R. If p represents S '
; 10. aedHT T F, R 5 fera ENIEAM
\ the static friction between the road and 110. m ,RT ® N T
aE Y T S S| Al TEF a4 B

tyres of the car, the maximum speed of the )
car in circular motionds given by : ¥ i & o wdfasw ‘Fﬁmp.q%\l @A, FRE
wofter e 1 Sy W

| (s ke 9
'_,:.1';_"7 A } —
S o

i ' (2)  Jus MR8 1

. ezl @) e mRe
| JR =3

/%/I—Ls N “(;/\ 3) r_—_Rg/Ms

1R .
() Jm Rg/es (4) (M Rglns

|‘ ' 111. A slab of stone of area 0.36 m? and | 111, TeR F1 & &4 (@)E‘l@l‘vfﬁ&%r
_ thickness 0.1 m is expcssed on the low.er 3 o v TR 0.1 mdy e Freel |
surface to steam at 100°C. A block of ice : . a; 3% 3R
- at 0°C rests on the upper surface of the (7%3) 100 Cﬁ"m 3 T ¢ AT
i slab. In one hour 4.8 kg of ice is melted. Sl waE WO°C i gH & T WT@B{
¥ The thermal conductivity of slab i forerdy T W B 4.8 kg T fow S €
% (Given ‘latent heat of fusion of a%%?WEﬁWW=336X1OSJk’
U ce=336x10°T kg™ ) 1) ' o ' f

G Kf&"\‘ 21 A, TR S T ] S AT g

(1) 102 J/m/s/°C gt = 2 . :
1y 1.02 ]/m/fs/°C

‘ (2) 1.24 :[/f['ﬂ/S/c’(:1 (2) 1.24 ]/m/s/oc
(3) 1.29]/m/s/°C 00 _0) (3) 129)/m/s/°C
!' 4) 205)/m/s/°C K 'Ag;( 4) 205]/m/s/°C

— plexogRI6 T d06A3
AN A

S riiep e Tk g B T R By ST T RT AT ) '
. ' A R PR kst g endd ik i e, vl s B s it L
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112. In 3 coil of Tesistance 10 ), the induced
i current devaloped by changing magnetic TAR Forerg e firg
’ flux through i, is shown in figure as ® .ﬁ e Al
0 g &1, _ function of time. The magnitude of change RRLEE T & w g f&a T G g
Oem TWE. . influx through the coil in Wepe is : EEEERE Y W, 39 FEoh ©
fro e O Waqﬁtrﬁaa’qmm(émﬂ)%
!  (amp) . :
: Q N ’%{ ! (amp)
9 - 4 -
] A 4 @ =
Ax u . -
Y
[ }_’f-«,\‘?’ 1= &g
0 0.1 t(y) v - R ae
: 0 0.1 t(s)
b ‘ 'l) 4 = @ ﬂ6'
q LoRUR ) ( @
i 3 . —loR
RN o (2) 8 2~ 2) 8
i 991 ST (3) 2
| - - () 2 .
113. A car of mass m‘;egg_r_t;;___mf_mm_ rest and 3. m BﬂQHa‘EB‘R &y :
accelerateg S0 that the instantaneous,’ 9 THR F e "&ﬁ?ﬁ%‘, ﬁ?ﬂ?ﬁﬁmﬁ'ﬁfﬁ%‘
power delivered tq the car has 4 constant

‘Magnitude P, The insta ntaneous velocity
of this car ig Proportiona] to -

BT

- ' ¥
RORYN =RV (I)J WE;
(2 :
(3) 2 (B) 12 %
(4) 2 (4) V2

114. wmnmﬁaﬂaﬂizzoms-laﬁamﬁ
ol g uw 39 ]OOO‘HzaTl'ql’fﬁﬁ tafy
EiEl %awwﬁm@mwm@

+ A train MOVing at a speed of 229 ms = !
towards a sta‘tionary object, emits a s und
of frequency 1000 Hz. Some of the sound
reaching the object gets reflected back o
the train ag echo. The frequency of the
echo as detected by the driver of the train
Is :

« : (speed of soung in air is 330 mg - iy

. (a7 %7 o1 o 77~ 330 ms~1)
(1) 3000 H.

(1) 3000 1,

'« S (2). 3500 Hz n'- nl (2) 3500 11,
‘ (3) 4000 1, (3) 4000 H
4) 5000 4, {(4) 5000 M

+
e e
B . . - .y ST Ll -
- Wbkt ey Ay 7 y
: wmm LI 205 bt =yl mctpaom mry e ; i I Hp =

[N K iy i ’ ' .

. L . ,
M J

"
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115. The input resistance of a silicon transistor

116. A cell having an emf & and internal

- (3)

www.FirstRanker.com
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is 100 Q. Base current is changed by
40 pwA which results in a change In
collector current by 2 mA. This transistor
is used as a common emitter amplifier
with a load resistance of 4 K. The voltage
gain of the amplifier is
(1) 1000 \Q; =
(2) 2000

3000

4000

~%

=

= \{]
1’6‘0#\

x_-;l\;')

(4)

resistance r is connected across a variable
external resistance R. As the resistance
R is increased, the plot of potential
difference V across R is given by :

Rr=V

1 o\

a® *\0 e B

115,

116.

et fafrea aifesey & faw gfadm 100 O
T AU HT H 40 pA F ofEda ¥ quEE
u H 2 mA 1 IiEd B 81 39 2R
], ITHATTS - IS H-Fad®H & F9 ¥ 4 KO
e g 3 T I T ) &, wads
#1 aeear oifsd gt e

(1) 1000
(2) 2000
(3) 3000
(4) 4000

% A F fowd aEd 59 (LTHUE.) e 7
st wfady ¢ 31 30 U oiadt Taiy R
¥ fgdl & o= Sie T g1 Afg wiady R &
W A wiE 41, R % ol & &g fqvemmn v

v
&)

0 R
@
(3)
(4)
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117. The dimensions of (Mot )"V 2 are :

e (1'-) [LI/ZTW]
" [L1}2T~ 1/2]\4

Q
@) [L-1T]
&4)/{L T-1

118.. The; half life of_ a rad‘ioactive nucleus is
50 days. The time interva] (t, ~t;) between

2
the time t, when 3 ofit has decayed and

the time t; when = of it had decayed is

W

(1) 15 days
2) 30 days
(3) 50 days .
(4) 60 days

119. The instantaneous values of aItemating

current and voltages in a circuit are given
as -

; 1-&. ‘

:=~4\7—5 In (100 rt) ampere

1
¢ =75 sin (100 mt+ 74 voly

The average power in Watts consumed in
the circujt is :

FirstRan ker.corp c
\ NI
| ey B

|
Jxé o
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7. (u,e,)"Y2 =t fam et 3 .

4) [LT-7

am%m%&iﬁm@ﬁ%mtpmm

R, (t, — t,) BT Y
(1) 15 fm = ——.};9-’ e
2) 30
50 faq
(4) 60 feq

119, Fﬂﬁwﬁwﬁqrmﬁﬁgawwaﬁm%
Wﬂﬁmnﬁﬁm:ﬁmmﬁaﬁaﬁm
Gﬂ"(‘l'l%:

i= 2/1_5 sin (100-wt) wfiqgy

ql ¢ =% sin (100 wt+ T4 ) dree
a‘r,sﬂvﬁvaﬁ&rﬁmaﬂmwﬁs(aﬁﬁ)
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120. The transition f1om lhe':.tatc n=31on --~1 120

ultrawolet mdzaimn Infrared radntmn .

_will be obtamed m the transmon from.:

Mfl—a?) U \J

(2 2-1 °

-o0o-

T AR abirdin nve dom gl il et oy b

e Ao b 14

(J

. BEESE % WU {EE A W ne=3 STy

J =1 oraeen § GHTT F wWETH Fafwo
F] 3 WA X1 A, T T H ST

 froll o Seste B, aft WEEm R

(1) 4—3 4
2) 2519
(3) 327

(4) 4-2 1

-obo-
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Read carefully the following instructions :

Froiferfad Féyr en7 @ 98 :

1.

~3

Each candidate must show on demand
his/her Admit Card to the Invigilator.

. No candidate, without permission of the

Superintendent or Invigilator, would leave
his/her seat.

_The candidates should not leave the

Examination Hall without handing over
their Answer Sheet to the Invigilator on duty
and sign the Attendance Sheet twice, Cases
where a candidate has not signed the
Attendance Sheet the second time will be
deemed not to have handed over Answer
Sheet and dealt with as an unfair means case.

_Use of Electronic/Manual Calcuiator is

prohibited.

. The candidates are governed by Rules and

Regulatlons of the Board with regard to their
conduct in the Examination Hall. All cases
of unfair means will be dealt with as per
Rules and Regulations of the Board.

. No part of the Test Booklet and Answer

Sheet shall be detached under any

- circumstances.

_ The candidates will write the Correct Test

Booklet Code as given in the Test Booklet/

" Answer Sheet in the Attendance Sheet.
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